



Available online at <http://scik.org>

Eng. Math. Lett. 2014, 2014:16

ISSN: 2049-9337

A CLASS OF ANALYTIC FUNCTIONS BASED ON AN EXTENSION OF GENERALIZED SALAGEAN OPERATOR

R. VIJAYA¹, T.V. SUDHARSAN², G. MURUGUSUNDARAMOORTHY^{3,*}

¹Department of Mathematics, S.D.N.B. Vaishnav College, Chennai - 600 044, India

²Department of Mathematics, SIVET College, Chennai - 600 073, India

³School of Advanced Sciences, VIT University, Vellore - 632 014, India

Copyright © 2014 Vijaya, Sudharsan and Murugusundaramoorthy. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, using generalized Salagean operator, we introduce a new subclass of analytic functions. Coefficient inequalities and distortion theorems and extreme points are studied. Furthermore, we discuss certain application of fractional derivatives for $f \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$.

Keywords: Hadamard product; Salagean operator; univalent functions; fractional derivative.

2010 AMS Subject Classification: 30C45.

1. Introduction

Let A denote the class of functions of the form

$$f(z) = z + \sum_{j=2}^{\infty} a_j z^j, \quad (a_j \geq 0), \quad (1.1)$$

which are analytic in the open disc $\Delta = \{z : |z| < 1\}$ and normalized by $f(0) = 0, f'(0) = 1$. Let S be the subclass of A consisting of univalent functions $f(z)$ of the form (1.1) Further denote by

*Corresponding author

Received May 20, 2014

T the subclass of A consisting of functions of the form

$$f(z) = z - \sum_{j=2}^{\infty} a_j z^j, \quad (a_j \geq 0). \quad (1.2)$$

We recall the Al-Oboudi operator (see [1]) denoted by D_{λ}^n , ($n \in \mathbb{N}; \lambda \geq 0$) given by $D_{\lambda}^n : A \rightarrow A$,

$$D_{\lambda}^0 f(z) = f(z), \quad (1.3)$$

$$D_{\lambda}^1 f(z) = (1 - \lambda)f(z) + \lambda z f'(z) = D_{\lambda} f(z), \quad \lambda \geq 0, \quad (1.4)$$

$$D_{\lambda}^n f(z) = D_{\lambda}(D_{\lambda}^{n-1} f(z)). \quad (1.5)$$

From (1.4) and (1.5), we see that

$$D_{\lambda}^n f(z) = z + \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n a_j z^j. \quad (1.6)$$

It is of interest to note that for $\lambda = 1$, we have Salagean operator [11].

Remark 1.1. If $f \in T$, $f(z) = z - \sum_{j=2}^{\infty} a_j z^j$, $a_j \geq 0$, then

$$D_{\lambda}^n f(z) = z - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n a_j z^j.$$

Further we recall the well-known subclasses of S , the class consisting of functions starlike of order α ($0 \leq \alpha < 1$) denoted by $S^*(\alpha)$ and convex of order α ($0 \leq \alpha < 1$), denoted by $K(\alpha)$. For convenience, we write $S^*(0) = S^*$ and $K(0) = K$. Silverman [12] investigated functions in the classes $T^*(\alpha) = T \cap S^*(\alpha)$ and $C(\alpha) = T \cap K(\alpha)$. In 1991, Goodman [3, 4], introduced the classes UCV and UST of uniformly convex and uniformly starlike functions respectively. Further Ma and Minda [5] and Ronning [9] independently gave the one-variable characterization for the classes UCV and UST as given below.

A function $f(z)$ of the form (1.1) is in UCV if and only if

$$\Re \left(1 + \frac{z f''(z)}{f'(z)} \right) > \left| \frac{z f''(z)}{f'(z)} \right|, \quad z \in \Delta.$$

Ronning (see [9, 10]), introduced the class S_p consisting of starlike functions $z f'(z)$, $f \in UCV$ and the class $S_p(\alpha)$ of functions of the form (1.1) for which

$$\Re \left(\frac{z f'(z)}{f(z)} \right) \geq \left| \frac{z f'(z)}{f(z)} - 1 \right|, \quad \alpha \in [-1, 1), z \in \Delta.$$

Ronning [10] also defined the class $UCV(\alpha)$, of uniformly convex functions of order α for which $zf' \in S_p(\alpha)$. Subramanian *et al.* [16] introduced the classes $TS_p(\alpha)$ and $TV(\alpha)$, $\alpha \in [-1, 1)$ as follows: A function $f(z)$ of the form (1.2) is in $TS_p(\alpha)$, $\alpha \in [-1, 1)$ if

$$\Re \left(\frac{zf'(z)}{f(z)} - \alpha \right) \geq \left| \frac{zf'(z)}{f(z)} - 1 \right|$$

and is in $TV(\alpha)$ if $zf' \in TS_p(\alpha)$.

In this paper, using the operator $D_\lambda^n f(z)$, we define the following new class motivated by Murugusundaramoorthy and Magesh [6].

Definition 1.2. The function $f(z)$ of the form (1.1) is in the class $SV_\lambda^n(\alpha, \beta, \gamma)$ if it satisfies the inequality

$$\begin{aligned} & \Re \left\{ \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - \alpha \right\} \\ & > \beta \left| \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - 1 \right| \end{aligned}$$

for $0 \leq \gamma < 1$, $-1 \leq \alpha < 1$, $\beta \geq 0$, $\lambda \geq 0$.

Further we define $TSV_\lambda^n(\alpha, \beta, \gamma) = SV_\lambda^n(\alpha, \beta, \gamma) \cap T$.

Remark 1.3.

- (1) $TSV_0^0(\alpha, \beta, 0) = TS(\alpha, \beta)$ (Bharathi *et al.* [2]).
- (2) $TSV_0^0(\alpha, 0, 1) = T^*(\alpha)$ (Silverman [12]).
- (3) $TSV_0^0(\alpha, 1, 0) = TS_p(\alpha)$ (Subramanian *et al.* [16]).
- (4) $TSV_0^0(\alpha, \beta, \gamma) = TS_p(\alpha, \beta, \gamma)$ (Murugusundaramoorthy and Magesh [6]).

For $f \in TSV_\lambda^n(\alpha, \beta, \gamma)$ we obtain coefficient characterization, Distortion theorems, extreme points and modified hadmard product results. Furthermore, we discussed certain application of fractional derivatives for $f \in TSV_\lambda^n(\alpha, \beta, \gamma)$.

2. Properties of the class $TSV_\lambda^n(\alpha, \beta, \gamma)$

Theorem 2.1. The function $f(z)$ of the form (1.1) is in $TSV_\lambda^n(\alpha, \beta, \gamma)$ if

$$\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha. \quad (2.1)$$

Proof. It suffices to show that

$$\beta \left| \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - 1 \right| - \operatorname{Re} \left\{ \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - \alpha \right\} \leq 1 - \alpha.$$

Now we consider

$$\begin{aligned} & \beta \left| \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - 1 \right| \\ & \quad - \operatorname{Re} \left\{ \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - \alpha \right\} \\ & \leq (1+\beta) \left| \frac{z(D_\lambda^n f(z))'}{(1-\gamma)D_\lambda^n f(z) + \gamma z(D_\lambda^n (f(z)))'} - 1 \right| \\ & \leq \frac{(1+\beta) \sum_{j=2}^{\infty} [1+(j-1)\lambda]^n (\gamma - \gamma j + j - 1) |a_j| |z|^{j-1}}{1 - \sum_{j=2}^{\infty} [1+(j-1)\lambda]^n (\gamma j - \gamma + 1) |a_j| |z|^{j-1}}, \end{aligned}$$

which is bounded above by $(1 - \alpha)$ if

$$\sum_{j=2}^{\infty} [1+(j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha.$$

Hence the proof is completed.

Theorem 2.2. A function $f(z)$ of the form (1.2) is in $TSV_\lambda^n(\alpha, \beta, \gamma)$ if and only if

$$\sum_{j=2}^{\infty} [1+(j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha.$$

Proof. We only need to prove the necessary condition. If $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$ and z is real, then

$$\begin{aligned} & \frac{1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n j a_j z^{j-1}}{1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n (\gamma j - \gamma + 1) a_j z^{j-1}} - \alpha \\ & > \beta \left| \frac{\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n (\gamma j - \gamma - j + 1) a_j z^{j-1}}{1 - \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n (\gamma j - \gamma + 1) a_j z^{j-1}} \right|. \end{aligned}$$

Letting $z \rightarrow 1$ along real axis, we obtain

$$\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha$$

and the proof is completed.

Remark 2.3. If $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$, then

$$a_j \leq \frac{1 - \alpha}{[1 + (j-1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]} \text{ for } j = 2, 3, \dots \quad (2.2)$$

and equality holds for

$$f(z) = z - \frac{1 - \alpha}{[1 + (j-1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]} z^j \text{ for } j = 2, 3, \dots \quad (2.3)$$

Theorem 2.4. Let the function $f(z)$ defined by (1.2) be in the class $TSV_\lambda^n(\alpha, \beta, \gamma)$. Then for $|z| < r = 1$,

$$r - \frac{1 - \alpha}{2(1 + \beta) - (\alpha + \beta)(\gamma + 1)} r^2 \leq |D_\lambda^n f(z)| \leq r + \frac{1 - \alpha}{2(1 + \beta) - (\alpha + \beta)(\gamma + 1)} r^2. \quad (2.4)$$

The result is attained for the function $f(z)$ given by (2.3) for $z = \pm r$.

Proof. By Theorem 2.1, we have

$$\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha.$$

Then we get

$$\begin{aligned}
& (1 + \lambda)^n [2(1 + \beta) - (\alpha + \beta)(\gamma + 1)] \sum_{j=2}^{\infty} a_j \\
& \leq \sum_{j=2}^{\infty} [1 + (j - 1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)] a_j \\
& < 1 - \alpha.
\end{aligned}$$

Therefore

$$\sum_{j=2}^{\infty} a_j \leq \frac{1 - \alpha}{(1 + \lambda)^n [2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]}.$$

Hence

$$\begin{aligned}
|D_{\lambda}^n f(z)| & \leq |z| + |z|^2 (1 + \lambda)^n \sum_{j=2}^{\infty} a_j \\
& \leq r + r^2 (1 + \lambda)^n \sum_{j=2}^{\infty} a_j \\
& \leq r + r^2 \frac{1 - \alpha}{[2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]}
\end{aligned}$$

and

$$|D_{\lambda}^n f(z)| \geq r - r^2 \frac{1 - \alpha}{[2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]}.$$

Thus

$$\begin{aligned}
r - \frac{1 - \alpha}{2(1 + \beta) - (\alpha + \beta)(\gamma + 1)} r^2 & \leq |D_{\lambda}^n f(z)| \\
& \leq r + \frac{1 - \alpha}{2(1 + \beta) - (\alpha + \beta)(\gamma + 1)} r^2.
\end{aligned}$$

Further, we have

$$\begin{aligned}
|(D_{\lambda}^n f(z))'| & \leq 1 + 2r(1 + \lambda)^n \sum_{j=2}^{\infty} a_j \\
& \leq 1 + \frac{2(1 - \alpha)}{[2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]} r
\end{aligned}$$

and also

$$|(D_{\lambda}^n f(z))'| \geq 1 - \frac{2(1 - \alpha)}{[2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]} r.$$

The result is sharp for the function $f(z)$, defined by

$$f(z) = z - \frac{1 - \alpha}{[2(1 + \beta) - (\alpha + \beta)(\gamma + 1)]} r^2, \quad z = \pm r.$$

This completes the proof.

The determination of the extreme points of a family of univalent functions enables us to solve many extremal problems.

Theorem 2.5. Let $f_1(z) = z$ and

$$f_j(z) = \frac{1 - \alpha}{[1 + (j - 1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]} z^j$$

for all $j = 2, 3, 4, \dots$. Then $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$ if and only if $f(z)$ can be expressed in the form $f(z) = \sum_{j=1}^{\infty} \mu_j f_j(z)$ where $\mu_j \geq 0$ and $\sum_{j=1}^{\infty} \mu_j = 1$.

Proof. Suppose $f(z)$ can be written in the form

$$\begin{aligned} f(z) &= \sum_{j=1}^{\infty} \mu_j f_j(z) \\ &= \sum_{j=1}^{\infty} \mu_j z - \sum_{j=2}^{\infty} \mu_j \left[\frac{1 - \alpha}{[j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]} z^j \right]. \end{aligned}$$

Then

$$\begin{aligned} &\sum_{j=2}^{\infty} \frac{\mu_j (1 - \alpha)}{[j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]} \times \frac{[j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]}{(1 - \alpha)} \\ &= \sum_{j=2}^{\infty} \mu_j \\ &= 1 - \mu_1 \\ &\leq 1. \end{aligned}$$

In view of Theorem 2.1, this shows that $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$. Conversely, suppose that $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$. Then

$$a_j \leq \frac{1 - \alpha}{[1 + (j - 1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]}, \quad j \geq 2.$$

Putting

$$\mu_j = \frac{[1 + (j - 1)\lambda]^n [j(1 + \beta) - (\alpha + \beta)(\gamma j - \gamma + 1)]}{1 - \alpha} a_j, \quad j = 2, 3, 4, \dots$$

and $\mu_1 = 1 - \sum_{j=2}^{\infty} \mu_j$, we see that $f(z) = \sum_{j=1}^n \mu_j f_j(z)$.

Definition 2.6. For two functions $f(z), g(z) \in T$, $f(z) = z - \sum_{j=2}^{\infty} a_j z^j$ ($a_j \geq 0$) and $g(z) = z - \sum_{j=2}^{\infty} b_j z^j$ ($b_j \geq 0$) the modified Hadamard product $f * g$ is defined by

$$(f * g)(z) = z - \sum_{j=2}^{\infty} a_j b_j z^j.$$

Theorem 2.7. Let $f(z) = z - \sum_{j=2}^{\infty} a_j z^j \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$, ($a_j \geq 0$) and $g(z) \in T$ with $g(z) = z - \sum_{j=2}^{\infty} b_j z^j \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$, ($b_j \geq 0$), $\alpha \in [-1, 1)$, $\lambda \geq 0$, $\beta \geq 0$, $\gamma \geq 0$. Then $f(z) * g(z) \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$.

Proof. Since $f(z), g(z) \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$, we have

$$\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j < 1 - \alpha$$

and

$$\sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] b_j < 1 - \alpha.$$

We know that $f(z) * g(z) = z - \sum_{j=2}^{\infty} a_j b_j z^j$. From $g(z) \in T$, we have $\sum_{j=2}^{\infty} j b_j \leq 1$ and we notice that $b_j < 1$ for $j = 2, 3, \dots$. Thus

$$\begin{aligned} & \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j b_j \\ & < \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j \\ & < 1 - \alpha. \end{aligned}$$

This implies that $f(z) * g(z) \in TSV_{\lambda}^n(\alpha, \beta, \gamma)$.

3. Application of the Fractional Calculus

We begin with the statements of the following definitions of fractional calculus (that is, fractional derivatives and fractional integrals) which were defined by Owa ([7, 8]) and were used by many researchers ([13, 14, 15]).

Definition 3.1. The fractional integral of order δ is defined for a function $f(z)$, by

$$D_z^{-\delta} f(z) = \frac{1}{\Gamma(\delta)} \int_0^z \frac{f(t)}{(z-t)^{1-\delta}} dt \quad (\delta > 0), \quad (3.1)$$

where $f(z)$ is analytic in a simply connected region of the z -plane containing the origin, and the multiplicity of $(z-t)^{\delta-1}$ is removed by requiring $\log(z-t)$ to be real when $(z-t) > 0$.

Definition 3.2. The fractional derivative of order δ is defined for a function $f(z)$, by

$$D_z^\delta f(z) = \frac{1}{\Gamma(1-\delta)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z-t)^\delta} dt \quad (0 \leq \delta < 1), \quad (3.2)$$

where $f(z)$ is as in Definition 3.1.

Definition 3.3. (Under the condition of Definition 3.2) The fractional derivative of order $k + \delta$ ($k = 0, 1, 2, \dots$) is defined by

$$D_z^{k+\delta} f(z) = \frac{d^k}{dz^k} D_z^\delta f(z), \quad (0 \leq \delta < 1) \quad (3.3)$$

From Definitions 3.1 and 3.2 by applying simple calculation, we get

$$D_z^{-\delta} f(z) = \frac{1}{\Gamma(2+\delta)} z^{\delta+1} - \sum_{j=2}^{\infty} \frac{\Gamma(j+1)}{\Gamma(j+1+\delta)} a_j z^{j+\delta}. \quad (3.4)$$

$$D_z^\delta f(z) = \frac{1}{\Gamma(2-\delta)} z^{1-\delta} - \sum_{j=2}^{\infty} \frac{\Gamma(j+1)}{\Gamma(j+1-\delta)} a_j z^{j+\delta}. \quad (3.5)$$

Now making use of (3.4) and (3.5), we state the following theorems.

Theorem 3.4. Let $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$. Then

$$|D_z^{-\delta} f(z)| \leq \frac{|z|^{\delta+1}}{\Gamma(2+\delta)} \left[1 + \frac{2(1-\alpha)}{(2+\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] \quad (3.6)$$

and

$$|D_z^{-\delta} f(z)| \geq \frac{|z|^{\delta+1}}{\Gamma(2+\delta)} \left[1 - \frac{2(1-\alpha)}{(2+\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right], \quad (3.7)$$

for $\delta > 0$ and $z \in \Delta$. The result is sharp.

Proof. Using (3.4), we have

$$\begin{aligned} D_z^{-\delta} f(z) &= \frac{1}{\Gamma(2+\delta)} z^{\delta+1} - \sum_{j=2}^{\infty} \frac{\Gamma(j+1)}{\Gamma(j+1+\delta)} a_j z^{j+\delta} \\ &= \frac{1}{\Gamma(2+\delta)} z^{\delta} \left[z - \sum_{j=2}^{\infty} \ell(j, \delta) a_j z^j \right], \end{aligned} \quad (3.8)$$

where $\ell(j, \delta) = \frac{\Gamma(j+1)\Gamma(2+\delta)}{\Gamma(j+1+\delta)}$. We have

$$0 < \ell(j, \delta) \leq \ell(2, \delta) = \frac{2}{2+\delta}. \quad (3.9)$$

In view of Theorem 2.1, we have

$$\begin{aligned} &(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)] \sum_{j=2}^{\infty} a_j \\ &\leq \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j \\ &< 1 - \alpha, \end{aligned}$$

which evidently yields

$$\sum_{j=2}^{\infty} a_j \leq \frac{1-\alpha}{(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]}. \quad (3.10)$$

Using (3.8) and (3.10), we have

$$\begin{aligned} |D_z^{-\delta} f(z)| &\leq \frac{|z|^{\delta}}{\Gamma(2+\delta)} \left[|z| + \ell(2, \delta) |z|^2 \sum_{j=2}^{\infty} a_j \right] \\ &\leq \frac{|z|^{\delta}}{\Gamma(2+\delta)} \left[|z| + |z|^2 \frac{2(1-\alpha)}{(2+\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} \right] \end{aligned}$$

or

$$|D_z^{-\delta} f(z)| \leq \frac{|z|^{\delta+1}}{\Gamma(2+\delta)} \left[1 + \frac{2(1-\alpha)}{(2+\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right].$$

We also have

$$|D_z^{-\delta} f(z)| \geq \frac{|z|^{\delta+1}}{\Gamma(2+\delta)} \left[1 - \frac{2(1-\alpha)}{(2+\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right].$$

This completes the proof.

Theorem 3.5. Let $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$. Then

$$|D_z^\delta f(z)| \leq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left[1 + \frac{2(1-\alpha)}{(2-\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] \quad (3.11)$$

and

$$|D_z^\delta f(z)| \geq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left[1 - \frac{2(1-\alpha)}{(2-\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right], \quad (3.12)$$

for $0 \leq \delta < 1$ and $z \in \Delta$. The result is sharp.

Proof. Using (3.5), we have

$$\begin{aligned} D_z^\delta f(z) &= \frac{z^{1-\delta}}{\Gamma(2-\delta)} - \sum_{j=2}^{\infty} \frac{\Gamma(j+1)}{\Gamma(j+1-\delta)} a_j z^{j+\delta} \\ &= \frac{z^{-\delta}}{\Gamma(2-\delta)} \left[z - \sum_{j=2}^{\infty} m(j, \delta) a_j z^j \right], \end{aligned} \quad (3.13)$$

where $m(j, \delta) = \frac{\Gamma(j+1)\Gamma(2-\delta)}{\Gamma(j+1-\delta)}$. We have

$$0 < m(j, \delta) \leq m(2, \delta) = \frac{2}{2-\delta}. \quad (3.14)$$

In view of Theorem 2.1, we have

$$\begin{aligned} &(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)] \sum_{j=2}^{\infty} a_j \\ &\leq \sum_{j=2}^{\infty} [1 + (j-1)\lambda]^n [j(1+\beta) - (\alpha+\beta)(\gamma j - \gamma + 1)] a_j \\ &< 1 - \alpha, \end{aligned}$$

which gives

$$\sum_{j=2}^{\infty} a_j \leq \frac{1-\alpha}{(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]}. \quad (3.15)$$

Using (3.13) and (3.15), we have

$$\begin{aligned} |D_z^\delta f(z)| &\leq \frac{|z|^{-\delta}}{\Gamma(2-\delta)} \left[|z| + m(2, \delta) |z|^2 \sum_{j=2}^{\infty} a_j \right] \\ &\leq \frac{|z|^{-\delta}}{\Gamma(2-\delta)} \left[|z| + \frac{2(1-\alpha)}{(1+\lambda)^n (2-\delta) [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z|^2 \right] \end{aligned}$$

or

$$|D_z^\delta f(z)| \leq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left[1 + \frac{2(1-\alpha)}{(2-\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right].$$

Also, we get

$$|D_z^\delta f(z)| \geq \frac{|z|^{1-\delta}}{\Gamma(2-\delta)} \left[1 - \frac{2(1-\alpha)}{(2-\delta)(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right].$$

Hence the proof is completed.

Corollary 3.6. For every $f(z) \in TSV_\lambda^n(\alpha, \beta, \gamma)$,

(1) When $\delta = 1$, from Definition 3.1 and Theorem 3.4, we obtain

$$\begin{aligned} \frac{|z|^2}{2} \left[1 - \frac{2(1-\alpha)}{3(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] &\leq \left| \int_0^z f(t) dt \right| \\ &\leq \frac{|z|^2}{2} \left[1 + \frac{2(1-\alpha)}{3(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] \end{aligned}$$

(2) When $\delta = 0$, from Definition 3.2 and Theorem 3.5, we obtain

$$\begin{aligned} |z| \left[1 - \frac{1-\alpha}{(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] &\leq |f(z)| \\ &\leq |z| \left[1 + \frac{1-\alpha}{(1+\lambda)^n [2(1+\beta) - (\alpha+\beta)(\gamma+1)]} |z| \right] \end{aligned}$$

Conflict of Interests

The authors declare that there is no conflict of interests.

Acknowledgement

This work was supported by UGC, under the grant F.MRP-4117/12 (MRP/UGC-SERO) of the first author.

REFERENCES

- [1] F.M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, Ind. J. Math. Sci. (25-28) (2004), 1429–1436.
- [2] R. Bharathi, R. Parvatham and A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, Tamkan J. Math. 28 (1997), 17–32.
- [3] A.W. Goodman, On uniformly convex functions, Ann. Polon. Math. 56 (1991), 87–92.
- [4] A.W. Goodman, On uniformly starlike functions, J. Math. Anal. Appl. 155 (1991), 364–370.

- [5] W. Ma and D. Minda, Uniformly convex functions, *Ann. Polon. Math.* 57 (1992), 166–175.
- [6] G. Murugusundaramoorthy and N. Magesh, On certain subclasses of analytic functions associated with hypergeometric functions, *Appl. Math. Lett.* 24 (2011), 494–500.
- [7] S. Owa, On the distortion theorem I, *Kyungpook Math J.* 18 (1978), 53–59.
- [8] S. Owa, Some applications of fractional calculus, *Research Notes in Math.*, 138, Pitman, Boston, London and Melbourne, (1985), 164–175.
- [9] F. Ronning, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, 118 (1983), 190–196.
- [10] F. Ronning, On starlike functions associated with parabolic regions, *Ann. Univ. Marie Curie-Sklodowska Sect. A* 45 (1991), 117–122.
- [11] G.S. Salagean, Subclasses of univalent functions, in *Complex Analysis - fifth Romanian - Finnish Seminar, Part 1* (Bucharest, 1981), *Lecture Notes in Math.* 1013, Springer, Berlin, (1983), 362–372.
- [12] H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.* 51 (1975), 109–116.
- [13] H.M. Srivastava and R.G. Buschman, *Convolution integral equation with special function kernels*, John Wiley and Sons, New York, London, Sydney and Toronto (1977).
- [14] H.M. Srivastava and S. Owa, An application of the fractional derivative, *Math. Japan* 29 (1984), 384–389.
- [15] H.M. Srivastava and S. Owa, (Editors), *Univalent functions, Fractional Calculus and their Applications*, Halsted Press (Ellis Harwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1989).
- [16] K.G. Subramanian, T.V. Sudharsan, P. Balasubrahmanyam and H. Silverman, Classes of uniformly starlike functions, *Publ. Math. Debrecen.* 53 (1998), 309–315.